#X3(H)

ANBER-E=R

(k)
IEEE | 5TKEIHE A #4TAE SFS5E10HF278 10 B 105
T %4 MAMREBEEIETSE B o & KiERR A AR | BEHEFAL
T = HAfE FF 6 42 A 14 HRRY &% & & ¥5,214,000
THIGA | KERITAREHHA F E M@ O#% ¥5,211,500 3/% Aﬁ#g 0.99959517
B 1K &I IR i #% ¥4,714,000 3;"" ff‘ ,)ﬁ” E% g g 1.00366987
BSXI[E&H F7E KEKE E1E 2 USRS
€ 312 Sk RigREHATERET20-8 A B —ER ¥5,214,000
P ERE B (FR) RIGRAHARTEGE4-19 AiE B ¥4,890,000 &AL
#OwA 4 R R &t R X ET4-25 BTE FH ¥5,150,000
(RPN RIGREHRTEET109 I EAl ¥5,214,000
MR HEER RIGREMERTITIDES52-3 | ZEH ¥ ¥5,005,000
(#%)F LA RIBRXF TR = HAT8-4 P AR ¥5,200,000




AfE X5

BEABEFANNICET SELEH

D HRERIEA
@A % H : /0
@I i S F 3

@ HEIEDEH -

MAMXEREEIELSE
5 £10 A 27 H

- 5vy

i o = # i i 15 B | gzasy

AS>Y 84 CS2H t
BRTEALSMARLES 77 77 i 84 it

BS Y i exE 4t
o ‘ HEEN. EHEET. ARTRICE
FUTIEICNT HAHEBHES FAEENA S L EEE 37 #t
I 5 o " ﬁﬁééiﬁigbfl$ﬁ%ﬁ% &t
HUTIEIZIONTOD DBEORLEE. ABEETIEZOR
B M O@E IE4E

@ FEHLEMEDKR

@ FRETEORR 6 it
z » #h D FHER VR ETADHE

@ 2 EH

@ EHZINEE

@ ol

(Dﬁ%ﬁﬁ&Uﬁﬁﬁﬁﬁbsﬁﬁ

® rmmEELUscBNTEESTAE

=1F
(BT EDH T - EEE) 6 #

(LRDS5 5. RERHESR
TEEEEREIES651 3
LE=ICLZEHKREE)
B & % E B ¥ 6 #




(ZHRF)

2 H AN F —

7

E3

R 5 T % ( 2 B ) 4% o
T AT 7L N 1=220.0
STAEALE | MK E A T % y |77 T "
— BTiE T/ 48 1=220.0 A=838. 8mi
5 FA W T HF/ 28 " m
il $H B3
= o)
E>
RS o %
o | Tl WA AR T AR A T 4-19
o PEEREE (HE) o
T 52 N -
¥
"
w W & A A AR 54 11/ 2 H
FEEE RN A i 7 H [f]
® mRAOL WD A A i 1] H ’%i?
FEEGEE R A i 7 H
WA (Y #1) 5,379,000 [ %
ERRAE (& &) = ]
AR D = %
e AN S E
VAN O e
| AT &f 54 117 2H -
BT (% ) 4f 64 285 148 105 AR
BT (W EE) A F A H el 5]
g | ELCEZEI Hmo A A H I H
T (mrwE) W £ A H A -
B 55012 35 1F 5 SR T 5 O i B -
[=]
H




